Orebridgen

Fredag dag 2019-10-11

Partavling, 6 bord, 12 par. Antal brickor: 24. Medel: 120.0.

Plac  Par Poang % Namn MID Klubb
1 2 136.7 56.95  Lennart Back - Margareta Back 50149 23434  Qrebridgen
2 1 135.1 56.30 Eva Lindskog - Hakan Carlestam 80446 42323  Orebridgen
3 12 1344 56.01  Margret Lundin - Ann Bergstrom 78235 88039  Orebridgen
4 3 125.6 52.33  Lilian Rosengren - Goran Lindberg 41895 42348  Orebridgen
5 5 124.4 51.85  Per-Arne Pettersson - Goran Sandahl 10898 33497  Orebridgen
6 8 124.4 51.84  Benny Johansson - Sture Persson 91330 37152  Orebridgen
7 11 123.7 5156  Goran Lindé - Bertolof Johansson 28746 90085  Orebridgen
8 6 120.1 50.05  Bjorn Hedlund - Roland Nilsson 58416 60078  Orebridgen
9 7 119.0 49.58  Per-Erik Ohrman - Bjérn Gunnarsson 28193 28194  Orebridgen
10 10 112.0 46.68  Malin Lénnberg - Gosta Lonnberg 94071 94070  Orebridgen
11 4 102.5 42.72  Gunnar Brodin - Goran Pettersson 10094 10093  Orebro Dévas BK
12 9 81.9 34.13  Jan Murman - Claus Réhnisch 49030 4081 Orebridgen
1 4 Kn10984 Basta kontrakt 2 4« ED108652 Basta kontrakt 3 4932 Basta kontrakt
Nord v 106 4v O =-420 Ost v63 5¢ O D-3500 Syd v Kn85 34 S =140
Ingen 492 NS ¢+ KD2 ov + EKD4
#E1064 & ¢ v & NT *4 & ¢ v & NT #Kn72 & ¢ v & NT
« D65 4 K3 N7 3373 473 49 N5 45 106 41075 #KD N57 796
vEKDKn5 v9872 S73373 vK vEDKn1074 S 6 4 5 106 vK vE10972 S6 7796
+ D84 ¢ EKn105 06 9 106 9 ¢ EKn1064 ¢ 9853 06 83824 410986 ¢ Kn72 O755 45
%93 «KD2 V 6 9 106 8 #DKn652 %98 V6882414 #K8653 #D104 V75545
aE72 & KKn4 » EKn864
v43 v 9852 v D643
+ K763 *7 +53
#Kn875 #EK1073 »E9
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
3 9 3NV-2 4 100 100 00| 2 8 44DN= vA 790 9.0 10| 4 11 34 S+1 vK 170 10.0 0.0
6 1 5vV-1 48 50 80 20| 3 9 44DN= vA 790 9.0 10| 2 8 24 S+l vK 140 7.0 3.0
5 11 2v V+2 aJ -170 6.0 40| 4 10 44 N+1 9 650 6.0 40|12 1 24 S+l vK 140 7.0 3.0
2 8 4v V= sJ -420 30 70| 6 1 44N= vA 620 30 70| 5 7 24S= vK 110 30 7.0
12 7 4v 0= va -420 30 70|12 7 44 N= vA 620 30 70| 6 3 14 S+l vK 110 30 7.0
4 10 4y O+1 &7 -450 0.0 10.0| 5 11 44 N-1 vA -100 0.0 100|10 9 INV-1 ¢A 100 0.0 10.0
4 & K542 Bésta kontrakt 5 493 Bésta kontrakt 6 & K865 Bésta kontrakt
Vast v 65 5NT V =-660 Nord vED83 3NT O =-400 Ost v K10 34 V =-140
Alla ¢ 652 NS 495432 ov + KD7
#Kn953 & ¢ v & NT 85 & ¢ v & NT «D985 & ¢ v & NT
4763 4 E1098 N55131 4E742 4 D1086 N6 4434 4 DKn73 4 E1092 N6 67 45
vEKDKn732 v84 S55131 vKn65 vK1097 S7 4434 vE8 vKn974 S 667 45
+Kn ¢ KD43 O 7 8 111011 ¢EK ¢ D1086 0689 99 ¢ E53 ¢ Kn86 O7 66 838
»E4 *K76 vV 7 8 111011 #K964 #Kn V68999 #EKN63 #72 V7686938
«DKn 4 KKn5 a4
v 109 v42 v D6532
+ E10987 ¢ Kn7 +10942
#D1082 #ED10732 »K104
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
2 8 5vV+l %] -680 50 50| 7 4 44V-1 8 50 100 00| 3 9 24V- ¢7 100 10.0 0.0
4 11 49y V+2 v5 -680 50 50|11 10 2#S-1 ¢ A -100 80 20|12 2 INV= *5 -90 8.0 20
5 7 4v V+2 2 -680 50 50|12 2 24V= 8 -110 6.0 40| 6 8 24 0= 8 -110 6.0 4.0
6 3 4v V+2 +6 -680 50 50| 5 1 INV+1 2 -120 40 6.0|11 10 INV+1 8 -120 4.0 6.0
10 9 4y V+2 &5 -680 50 50| 3 9 24V+l v3 -140 20 80| 7 4 2s4V+l *8 -140 20 8.0
12 1 4y V+2 3 -680 50 50| 6 8 24V+2 LT -170 0.0 100| 5 1 INV+2 46 -150 0.0 10.0
7 #9863 Bésta kontrakt 8 4 E8752 Bésta kontrakt 9 46 Bésta kontrakt
Syd v D542 INTS =90 Vast v K876 3vy ND-1-100 Nord v EK752 5& N =400
Alla ¢E Ingen *- ov + KKn4
#Kn1093 & ¢ v & NT #8762 & ¢ v & NT «D1064 & ¢ v & NT
«D1052 a K4 N667 77 4« KKn964 & D103 N7 586 4 D874 4953 N 116 8 9 9
v Kn6 v K1098 S66777 vEKn104 v3 S7586 4 vKn984 vD63 S 116 8 9 8
¢ KKn9832 ¢4 O6 76 6 6 +6 ¢+ EKD985 06 8478 ¢+ E10532 ¢ D86 026444
*2 *K87654 V67666 #Kn54 *K93 V674738 *- #KKn85 V26444
& EKn7 a- 4 EKKn102
vE73 v D952 v10
+ D10765 ¢ Kn107432 +97
#ED #ED10 #E9732
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
12 3 INS+2 ¢2 150 100 00| 7 9 64V-4 8 200 100 00| 2 1 3NN= ¢6 400 9.0 1.0
1 11 2NN-1 8 -100 50 50| 6 2 44V-3 6 150 80 20| 7 3 3NN= +8 400 9.0 1.0
4 10 2y N-1 ¢4 -100 50 50| 4 10 2¢ O-2 v2 100 6.0 40| 8 10 3« N+1 ¢6 130 6.0 4.0
6 2 2NS-1 +3 -100 50 50| 1 11 44 V-1 v7 50 30 70| 5 11 44S-1 v8 -50 30 7.0
7 9 34S-1 +4 -100 50 50|12 3 24V-1 »2 50 30 70| 9 6 44S-1 ¢ A -50 30 7.0
8 5 3NN-3 *5 -300 0.0 100| 8 5 4vDN-1 +A -100 0.0 10.0|12 4 3NN-2 49 -100 0.0 10.0
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10 443 Basta kontrakt 11 4 K4 Basta kontrakt 12 4 DKn975 Basta kontrakt
Ost v2 5v O D -2 500 Syd v EK53 2NT SD-1-100 |Vast v EKD76 3v N =140
Alla + EK98 Ingen + 1092 NS .-
#KDKn1062 & ¢ v & NT #D642 & ¢ v & NT #KD6 & ¢ v & NT
» 96 « EKD10872 N 11114 5 6 4 E10832 & DKn765 N85857 4 E1083 464 N6 69 87
vKKn1086543 vD S 11114 5 6 vD8 vKn9 S85857 v 104 v Kn85 S66 987
¢ 64 ¢ 752 020972 + KD76 ¢ Kn53 0484865 ¢+ D932 ¢+ EK86 06 7345
»4 *75 V20972 *107 #EKnN9 V 48485 &#E94 #Kn852 V67355
& Kn5 49 & K2
vE97 v 107642 v 932
+ DKn103 ¢ E84 + Kn10754
»E983 #K853 #1073
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
9 6 5#N= «A 600 90 10|10 7 2¢v N+1 5 140 100 00| 6 1 1e N+3 ¢A 170 9.0 1.0
12 4 54 N= 4A 600 90 10| 3 2 3aV-1 vA 50 50 50|10 7 14 N+3 «5 170 9.0 1.0
5 11 5vDV-2 +A 500 60 40| 6 1 3aV-1 vA 50 50 50| 3 2 1aN+1 ¢A 110 50 5.0
2 1 340-2 +Q 200 30 70| 8 4 3aV-1 vA 50 50 50| 8 4 1lvN+1 ¢+A 110 50 5.0
8 10 54 O-2 8 200 30 70|12 5 3aV- vA 50 50 50| 9 11 3NS-1 2 -100 20 8.0
7 3 340-1 «A 100 0.0 100| 9 11 3a V= vA -140 0.0 10.0|12 5 1saV+1 ¢A -110 0.0 10.0
13 o E Basta kontrakt 14 43 Basta kontrakt 15 486 Basta kontrakt
Nord v53 3v N =140 Ost vK 54 O D -2 300 Syd v E1097652 3¢ VD-1100
Alla + E86543 Ingen + E87652 NS + 86
#7532 & ¢ v & NT #E9542 & ¢ v & NT »E9 & ¢ v & NT
4 D976 4853 N9 89 87 4« Kn874 «EKD1062 N 10116 4 6 « EKKNn1043 4 D7 N9 57 46
v974  vKD82 S98987 vD108762 v93 S 10116 4 6 v Kn843 vD S957 46
+Kn7 ¢ KD102 045455 ¢- ¢+ DKn4 022797 ¢ 1073 ¢ E9542 0385865
#K986 D10 V45455 #DKn6 »87 V22797 »- #85432 V38585
& KKn1042 495 4952
v EKn106 v EKn54 vK
+9 + K1093 ¢ KDKn
#EKn4 #K103 #KDKn1076
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
4 3 3&N+1 8 130 100 00| 9 5 54DO-2 ¢9 300 100 00|12 7 44S-= sA 130 10.0 0.0
12 6 2NN= T 120 80 20|11 8 540-3 +3 150 80 20| 8 3 3#S-= A 110 8.0 20
10 1 24 S= +J 110 6.0 40|12 6 540-1 +9 50 60 40| 1 9 4eV-2 «A 100 6.0 4.0
7 2 2NS-1 v9 -100 40 60| 4 3 5¢N-1 s A -50 30 70| 5 4 4eV-1 *A 50 40 6.0
11 8 3NN-3 v2 -300 20 80|10 1 5¢ N-1 s A -50 30 7.0|11 2 4v N-2 4Q -200 20 8.0
9 5 3NS-4 *6 -400 0.0 100| 7 2 24 O+1 +3 -140 00 100|10 6 4vy N-3 +Q -300 0.0 10.0
16 « K10764 Bésta kontrakt 17 & K87 Bésta kontrakt 18 4 E6 Bésta kontrakt
Vast vE 5¢ N =450 Nord v Kn1095 34 N =140 Ost v E982 3v O =-140
ov + D832 Ingen + D8 NS + 8652
*EK4 & ¢ v & NT »E863 & ¢ v & NT #ED5 & ¢ v & NT
4 ED932 4Kn8 N5 5 116 8 41043  4Kn92 N 106 7 9 8 4543 4« KDKn87 N57 434
vD v Kn6 S 55 116 8 vKD832 vE76 S 106 7 9 8 vKDKn3 v 1074 S 47 334
¢+ K764  # EKn109 077161 ¢ E75 ¢ Kn9432 0366 35 ¢ K43 ¢E 086 987
+986 #Kn10532 V 7 7 1 6 1 *52 KD V366 35 #Kn107 #K863 V86987
a5 » ED65 41092
v K109875432 v4 v 65
+5 + K106 + DKn1097
«D7 #Kn10974 %942
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
1 9 4vDS+1 &4 690 100 00| 9 4 34S+1 vyK 170 100 00|12 8 INV= 2 -90 10.0 0.0
5 4 4y S+2 8 480 50 50| 1 3 2vV-1 +Q 50 6.0 40| 1 3 24 0+2 +9 -170 6.0 4.0
8 3 4v S+2 ¢4 480 50 50| 2 10 2¢ O-1 v4 50 6.0 4.0| 2 10 24 O+2 v6 -170 6.0 4.0
10 6 4y S+2 ¢4 480 50 50|12 8 2vV-1 vQ 50 6.0 40|11 7 24 O+2 +Q -170 6.0 4.0
11 2 4v S+2 4A 480 50 50|11 7 Pass 20 80| 6 5 44 0= v6 -420 20 80
12 7 3v S+3 ¢4 230 0.0 100| 6 5 2¢ O= v4 -90 0.0 100| 9 4 44DO= ¢Q -590 0.0 10.0
19 493 Bésta kontrakt 20 & Kn5 Bésta kontrakt 21 49 Bésta kontrakt
Syd v 65 3¢ S =110 Vast v 942 2NT O =-120 Nord v 87 54 O =-450
oV + E10875 Alla + K987 NS + EDKn8543
*K654 & ¢ v & NT #EKNn97 & ¢ v & NT +KD2 & ¢ v & NT
« D65  KKn872 N6 9557 K97 « D6 N75575 « EKDKNn10 #8754 N483 23
vK7432 vD108 S6 9557 vK1073 vKn85 S755865 v EKn53 v K104 S48323
¢+ D2 +6 07 38865 ¢ D43 ¢EKN1052 O 6 8 8 5 8 ¢ 72 + K9 O 8 5 101110
D102 #E973 V63885 #1065 K84 V68857 »97 #E1064 vV 8 5 101110
«E104 » E£108432 4632
v EKn9 v ED6 v D962
¢ KKn943 6 + 106
#Kn8 #D32 #Kn853
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 8 340-2 +K 200 9.0 1.0| 3 11 24 S+2 v7 170 100 00| 2 9 54V-1 *K 50 10.0 0.0
2 4 44DO-1 ¢3 200 9.0 10|12 9 24 S+l a7 140 80 20| 8 7 3¢ N-1 8 -100 80 20
10 5 4¢ N= 5 130 50 50|10 5 24 S= T 110 6.0 4.0|12 10 3a V+2 v8 -200 6.0 4.0
12 9 3¢ S+1 5 130 50 50| 2 4 3¢0-1 «A 100 40 60| 4 1 5¢ N-3 a5 -300 40 6.0
3 11 34 0-1 +3 100 20 80| 7 6 24S-1 +3 -100 20 80| 3 5 440= *T -420 20 80
7 6 3vV= ¢ A -140 00 100| 1 8 2NV= 5 -120 0.0 100|11 6 4a4 V+1 ¢ A -450 0.0 10.0
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22 4~ E96 Basta kontrakt 23 4 E92 Basta kontrakt 24 4« D10 Basta kontrakt
Ost v ED1085 44 S D -3-500 Syd v EDKn1052 54 S =650 Vast v E832 64 V =-980
ov + KKn9 Alla + EK3 Ingen +3
#85 & ¢ v & NT #Kn & ¢ v & NT #KKn10987 LI A Y
4 KKn103 &7 N33674 443 &« DKn6 N6 7 11118 & K8753 « EKn42 N8 171
v K973 v Kn2 S33674 v73 v94 S 6 7 11118 vD5 v K107 S8171
+ E105 ¢ D7432 09 86 69 ¢+ Kn652 ¢ D1094 06 6 223 ¢ DKn10975 ¢ EK86 O 5 125 12
«D10 #EKKNn94 V 10107 6 9 #D7432 #EKS86 V66223 »- D3 vV 5 125 12
& D8542 4 K10875 + 96
v 64 v K86 v Kn964
+ 86 + 87 ¢ 42
»7632 #1095 #E6542
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
11 6 3NV-1 8 100 100 00| 4 6 4v N+1 +9 650 80 20| 3 10 INO-1 *2 50 10.0
8 7 24S-3 &T -150 80 20| 9 8 44 S+l v3 650 80 20| 5 2 3¢ V+3 vA -170 8.0
12 10 3NV = 8 -600 6.0 40|12 11 4v N+1 «A 650 8.0 20|12 11 34 V+3 +3 -230 6.0
2 9 3NV+2 46 -660 30 70| 5 2 3vN+3 «A 230 40 60| 1 7 44 O+2 *A -480 3.0
3 5 3NV+2 v8 -660 30 70| 1 7 3vN+2 v9 200 20 80| 4 6 54V+1 L) -480 3.0
4 1 4eDV=  &A -710 0.0 10.0| 3 10 34 S= +J 140 0.0 100| 9 8 5¢DV+1 «Q -650 00 1
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